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After being closed for a long time, the switch opens at t = 0.  Find vC(t) for t > 0.
Hint: use a Thevenin equivalent for the voltage source and resistors for t < 0.

2.
t = 0

2 kΩ0.1 mA  25 µH iL

After being open for a long time, the switch closes at t = 0.  iL(t = 0–) = 0A.
Find iL(t) for t > 0.
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After being open for a long time, the switch closes at t = 0.  Find v1(t) for t > 0.



4.
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After being closed for a long time, the switch opens at t = 0.
a) Find iL(0–) for the above circuit.
b) For t > 0, find the Thevenin equivalent of the above circuit as seen from the

terminals where the inductor is attached.  In other words, remove the
inductor from the above circuit and find the Thevenin equivalent of the
circuit as seen by looking into the wires where the inductor was attached.

5. For the circuit in problem 4, find i1(t) for t > 0.


